

ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 **ARLINGTON, VIRGINIA 22201**

NOTICE OF RENEWAL

ORIGINAL DATE ISSUED: 01/23/2019 **TO:** LAKESHORE LEARNING MATERIALS **2695 EAST DOMINGUEZ STREET** CONTRACT NO: 19-142-R CARSON, CALIFORNIA 90895

CONTRACT TITLE:

CLASSROOM SUPPLIES

ARTS, CRAFTS &

THIS IS A NOTICE OF RENEWAL AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID **COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.**

The contract documents consist of the terms and conditions of AGREEMENT No. 19-142-R including any attachments or amendments thereto.

EFFECTIVE DATE: JUNE 15, 2022

EXPIRES: JUNE 14, 2023

RENEWALS: NO RENEWALS REMAINING.

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: Rafael Muro	VENDOR TEL. NO.:	(800) 421-5354 EXT. 7486				
EMAIL ADDRESS: RMuro@lakeshorelearning.com						
COUNTY CONTACT: Farah Shakour Bridges	COUNTY TEL. NO.:	(703) 228-7785				
COUNTY CONTACT EMAIL: Fshakour-						
bridges@arlingtonva.us						
CONTRACT AUTHORIZATION						
THE COUNTY BOARD OF ARLINGTON	LAKESHORE LEARNING MATERIALS					

COUNTY, VIRGINIA RMuro@lakeshorelearning.com Tomeka Price PRINT: DR. SHARON T. LEWIS DocuSigned by: SIGNATURE: SIGNATURE: -5950D4E0ACC0472... Bid Supervisor TITLE: PURCHASING AGENT Procurement Officer DATE: 7/14/2022 DATE: 7/15/2022

ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 ARLINGTON, VIRGINIA 22201

NOTICE OF CONTRACT AWARD

LAKESHORE LEARNING MATERIALS

DATE ISSUED:

2695 EAST DOMINGUEZ STREET

CURRENT REFERENCE NO: 19-142-R

CARSON, CALIFORNIA 90895

ARTS, CRAFTS &

01/23/2019

CONTRACT TITLE: CLASSROOM SUPPLIES

THIS IS A NOTICE OF AWARD OF CONTRACT AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. 19-142-R including any attachments or amendments thereto.

EFFECTIVE DATE: IMMEDIATELY

EXPIRES: 06/14/2019

RENEWALS: FOUR (4) ONE (1) YEAR RENEWAL OPTIONS FROM 06/15/2019 TO 06/14/2023

COMMODITY CODE(S): 96731

LIVING WAGE: N

ATTACHMENTS:

AGREEMENT No. 19-142-R

ATTACHMENT A - LOUDOUN COUNTY, VIRGINIA RFQ-7763

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: CHELSEA GAYDEN VENDOR TEL. NO.: (800) 421-5354 #2936

EMAIL ADDRESS: CGAYDEN@LAKESHORELEARNING.COM

COUNTY CONTACT: STEVE ARTLEY (DPR) COUNTY TEL. NO.: (703) 228-3319

COUNTY CONTACT EMAIL: SARTLE@ARLINGTONVA.US

10.0 ATTACHMENT A

VENDOR NAME: Lakeshore Learning Materials

		EST	EST	UNIT	EXTENDED
	ITEM DESCRIPTION	QTY	UNIT	PRICE	PRICE
1	COLORING PACK W/ VARIOUS COLORS (COUNT/400) Crayola® Large Crayon Classpack™ (400ct) or Equal				
	Brand Name: LAKESHORE Item# VX850	100	вох	s 49.99	s 4,999.00
2	MARKERS (PK /12) Cravola® Classic Markers or Equal 8				_ =
	Brand Name: <u>LAKESHORE</u> Item# <u>JJ438</u>	100	PK	\$ 3.99	s 399.00
	COLORED PENCILS (BOX/24) Cravola® Colored Pencils or Equal		-		
3	Brand Name: Item#	100	вох	NO BID	s
	OIL PASTELS CLASSPACK (SET/336) Crayola® Oil Pastels Classpack™ or Equal	11_			
4	Brand Name: Item#	75	SET	NO BID	s
_	SIDEWALK CHALK (PK/52) Crayola® Sidewalk Chalk Fun Bucket or Equal	,,,			
5	Brand Name: Item#	50 50	PK	NO BID	s
	WASHABLE TEMPORA PAINT 16 oz. Crayola® Washable Paint or Equal *SPECIFY COLOR				
6	Brand Name: LAKESHORE Item# PX2016BU	75	EA	\$ 2.99	s224.25
7	ACRYLICS PAINT (PK/4) Color Splasht® Acrylic Paint (4 Pack 32-oz.) Set with Pump Or Equal			NO BID	
	Brand Name: Item#	100÷	PK	s	s
8	WASHABLE WATERCOLORS (SET/16) Crayola® Washable Watercolors or Equal				
٥	Brand Name: Item#	100	SET	NO BID	s
9	FINGER PAINT (SET/4) Cravola® Finger Paint, Primary Colors or Equal AA340BU + AA340YE +				
	Brand Name: LAKESHORE Item# AA340GR	50	SET	s 11.96	s598.00
10	FINGER PAINT (SET/4) Cravola® Finger Paint, Secondary Colors or Equal AA340RG + AA340VT + AA340TQ +				
	Brand Name: LAKESHORE Item# AA348WT	50	SET	s 11.96	\$598.00

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 32 of 36

	GLUE STICKS (PKO) Elmer's® Glue Sticks or Equal DOZEN				
11	Brand Name: LAKESHORE Item# TT505Z	250 100	PK	s 4.99	s1,247.50
12	WHITE GLUE Elmer's White Glue - Gallon Size (128 oz.) or Equal				
	Brand Name: LAKESHORE Item#RS264	100	EA	s 13.99	s1,399.00
13	GLITTER GLUE (SET/72) Color Splashl® Glitter Glue Pens or Equal			NO BID	
	Brand Name: Item#	100	SET	s	S
14	TACKY GLUE Color Splash!® Ultra Tacky All Purpose Craft Glue. 8 oz. or Equal	-			
	Brand Name: LAKESHORE Item# TG171	100÷	EA	\$3.79	\$379.00
,,	CRAFTSTICKS 3/8" x 4-1/2". (BOX/1,000)				
15	Brand Name: LAKESHORE Item# FT2496	50	вох	\$7.99	s399.50
,,	COLORED CRAFTSTICKS - REGULAR (PK/500)				
16	Brand Name: LAKESHORE Item# HL150	50	PK	s 8.99	s449.50
	PLAY DOUGH/CLAY Cravola® Air-Dry Clay, 25lb Classpack™ or Equal				_
17	Brand Name: Item#	50	EA	NO BID	s
18	CLAY MOLDS AND TOOLS (SET/149) Creativity Street or Equal	50	SET	s NO BID	s
	INK PADS (PK/12) Color Splash!® Washable Color lpk Pads or Equal				
19	Brand Name: Item#	50	PK	NO BID	s
	STAMPS (SET/10) Number Stamps (numbers 0-9. Size: 1-5/8" high.)	_			
20	Brand Name: Item#	50	SET	NO BID	s
	GLITTER Color Splashi@ Glitter 11b, Shaker Top or Equal	30	00.	3	-
21	Brand Name: Item#	100	EA	NO BID	s
	YARN Color Splash!® Acrylic Yarn 3oz or Equal				
22	Brand Name: Item#	100	EA	NO BID	s
1	PIPE CLEANERS (PK/1000) Chenille Stems or Equal		Ш		
23	Brand Name: LAKESHORE Item# BA9112	100	PK	s 16.99	s 1,699.00

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 33 of 36

					,
	FOAM SHEETS (PK/78) 2" x 12" EVA Foam Sheets (2mm Thick, assorted colors or Equal 30 PC				
24					
	Brand Name: LAKESHORE Item# LA189	260			-4457.40
	SCISSORS (PK/12) Fiskars® Scissors for Kids or Equal	-100	PK	\$ 15.99	s4,157.40
25					
23	Brand Name: LAKESHORE Item# TS547Z	.	DI.	- 46 00	n 040 E0
		50	PK	s 16.99	\$ 849.50
	OLIMA				
	GAMES	-			
	MANCALA				
26	Brand Name: Item#			NO BID	
		10	EA	S	s
	CONNECT FOUR			27	
27	Brand Name: HASBRO Item#_FG653				-
		10	EA	s15.99	\$159.90
	SORRY				
28	Brand Name: Item#			NO BID	
		10	EA	\$	S
	APPLES TO APPLES				
29	Brand Name: Item#	.		NO BID	
		01	EA	S	S
	LEGOS 607 PC				
30	Brand Name: LAKESHORE Item# RA401				
		50	PK	\$49.99	\$2,499.50
	SPECIFIC KITS	-		\$	\$
	TIE-DYE KITS			<u>s</u> =	S
31				NO BID	
	Brand Name: Item#	. 4	PK	\$	\$
			ШЦ	S	S
	<u>DECORATIONS</u>		_	S	\$
	LATEX BALLOONS				
32	Brand Name: Item#		1	NO BID	
		100	BAG	S	\$
	ARTS & CRAFTS		_	\$	S
	FUSE BEADS			\$	\$
33		=		NO DID	
ور	Brand Name: Item#		D.C	NO BID	
	WOOD BEADS	5000	BAG	S	\$
34				NO BID	8
34	Brand Name: Item#	-	2.5	1	_
		600		S CLASSROOM S	\$

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 34 of 36

	GLASS BEADS					
35	Brand Name:	Item#	50	BAG	NO BID	s
	MOSAIC BEADS 1 LB	-				
36	Brand Name: <u>LAKESHORE</u>	Item# <u>YE1621</u>	50	BAG	s 4.99	s 249.50
	PAPER BEADS					
37	Brand Name:	Item#	500	BAG	NO BID	S
	LEATHER BEADS					
38	Brand Name:	Item#	500	BAG	NO BID	s
	ALPHABET BEADS		T			
39	Brand Name: <u>LAKESHORE</u>	Item# <u>FF491</u>	500	BAG	s 14.99	s 7,495.00
	VARIOUS JEWELRY FINDINGS			_ <u></u>	<u> </u>	3 1,100.00
40	Board Manage	Manager 1			NO BID	
	Brand Name:	item#	VARIES	BAG	s	s
	AIR DRY CLAY		7711125	DAG		-
41	Brand Name:	Item#	25	вох	NO BID	s
	MODEL MAGIC					
42	Brand Name:	Item#	2	вох	NO BID	s
	DECORATIVE DUCK TAPE					
43	Brand Name:	Item#			NO BID	
			ROLL	PK	\$	s
	50LB WEIGHT SULFITE PAPER					
44	Brand Name:	Item#			NO BID	
			100 SH	PK	s	S
1	FINGER PAINTS (VARIOUS COL *SPECIFY COLOR	LORS) 16 OZ				
45	Brand Name: LAKESHORE	Item# AA340BU				
			16 OZ	вот	\$2.99	\$ 2.99
	FADELESS CONSTRUCTION PA	PER 50 SHEETS	= =			=
46	Brand Name: PACON	Item# TA70AC				
_	HEAVY WHITE TAG BOARD		60SH	PK-	\$2.19	\$ 2.19
,_	HEAVI WHILE IAG BUAKD					
47	Brand Name:	Item#	100	B	NO BID	
	SUPER BRIGHT TAG BOARD		100	PK_	\$	\$
48						П
"	Brand Name:	Item#	100	שמ	NO BID	[]
	L		100	PK	\$	\$

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 35 of 36

	CANVAS					
49	Brand Name:	Item#	2YDS	ROLL	NO BID	s
	PAINT BRUSHES 24 PC				<u>. </u>	
50	Brand Name: LAKESHORE	Item# <u>LK936</u>	24	PK	s 9.99	s 239.76
	FOAM SHAPE STICKERS 800	PC				
51	Brand Name: LAKESHORE		VAR	PK	s 16.99	s 16.99
	FELT (9x12 SHEETS) 50 SHEET	rs				
52	Brand Name: LAKESHORE	Item# <u>LC564</u>	25	PK	s 13.99	s 349.75
	POM POMS 300 PC					
53	Brand Name: LAKESHORE	Item# BA8150	8OZ	PK	s 7.99	s 7.99
	TISSUE PAPER					
54	Brand Name: PACON	Item# KW5851	100 SH	PK	s 12.99	s 12.99
	MAGNETS		- 1		Q	· · · · · · · · · · · · · · · · · · ·
55	Brand Name:	Item#		·	NO BID	
			VAR	PK	\$	S

^{*} Please see attached Product Specification for detailed descriptions and images *

Free freight on orders over \$150.00 shipping to one location. On orders over \$150.00, please estimate freight charges at 15% of subtotal, with a minumum freight charge of \$5.00.

Please reference "Per PO #RFQ-7763" on all purchase orders.

ARTS, CRAFTS & CLASSROOM SUPPLIES RFP RFQ 7763 Page 36 of 38